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Complete.

I3 = ten and
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Draw the next two shapes in this pattern.
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Use < or > to compare. 10 — 2 O 0 —6

What is double 3?

WA|L 1 *:o,u.n.t ong molre and .ohe less

H.ow—ecarnwe Ssolve this nrohlem?
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What do we need | to do?

 —

a) There are 13 children sitting down.

One more child sits down.

How many children are sitting down now?
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Do| we |need to lcount .on .or|.count hiack?
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— b) There are 15 cars in a car park. —
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One car leaves.

How many cars are in the car park now?
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WA|L T: @mt ong moje and one less

| » One less than 19

» One more than 14

» One more than 11
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Clan ygou explain o Baudday

Eva has 12 strawberries. @_

Her sister gives her one more strawberry.

How many strawberries does Eva
have now?
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Complete the sentences.

a) One more than 17 is

b) One less than twenty is

¢) One less than 1 ten and 5 ones is
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¢) 1 ten and 7 ones is one

Complete the sentences.

is one less than 19

is one more than 11

than 16
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